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Csl(TI) Waveform Fitting
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Deviation with the fitting function and data
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Single Pulse by Conventional Model
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Waveform
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Double pulse Fitting
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New Model Fitting function
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Summary

New waveform model was developed, its y? is lower than
conventional model.

The new model has not steppingterm.

Good fit can be identified by determination as max of the deviation
(dh) less than 4.

The model was imported to KEKCC based Fortran.

Time resolution and energy calibration will be performed for new
model.
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New Model Fitting function
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New Model Fitting function
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